T o e

7165 — 2343 =
1764 + 18 =

_ =1275-823
1250 x 46 =
8+14=

Write 24 in Roman Numerals

4.8x7 =

Find 20% of 1400 =
14 + (4 x6) =

13% =

15245 — 9863 =
2628 + 18 =

_ =2643-1284
2643 X 46 =

17 + 24 =

Write 49 in Roman Numerals

4.8x8=

Find 25% of 1400 =
23-8+(8x5) =
162 =

164372 — 65243 =
3042 + 18 =

_ =27542-8724
7642 x 46 =

83 + 124 =

Write 89 in Roman Numerals

4.8x9 =

Find 35% of 1400 =
142 + 124 —-(3 x6) =
18% =



T o e

7165 —2343 =4822
1764 +~ 18 =98

452 = 1275 -823
1250 x 46 = 57500
-8+14=6

Write 24 in Roman Numerals
= XXIV

4.8x7=33.6

Find 20% of 1400 = 280
14 + (4 x 6) = 38

132 =169

15245 — 9863 = 5382
2628 + 18 = 146
1359 = 2643 — 1284
2643 x 46 = 121578
-17+24=7

Write 49 in Roman Numerals
= XLIX

4.8x8=38.4

Find 25% of 1400 = 350
23-8+(8x5)=55
162 = 256

164372 — 65243 =99129
3042 + 18 =169

18818 = 27542 — 8724
7642 x 46 = 351532
-83+124 =41

Write 89 in Roman Numerals
= LXXXIX

4.8%x9=43.2

Find 35% of 1400 = 490
142 + 124 — (3 x 6) = 248
182 =324



